

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103

TAC 1377
Traffic Signal Detection Systems
Public Works Department
Bid Opening Date: November 20, 2025

Project Buyer: Julie Miller
jamiller@cityoftulsa.org
Please contact if you have any questions.

Delivery:

If Your Bid is Accepted, state the number of Days You need to deliver the Supplies and/or begin providing Services.

You must be able to deliver the Supplies and/or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity

| Well as | seeking any other damages to which it may | | | | | 1 | ITC DI. | o Inc | | | | |
|---------|--|-----------------------|-----------|------------------|----------------------|----------|--|-----------------------|--------|-------------|---------------|--|
| Section | Pinkley Sale n A- Video Detection Systems and Parts: | es Compa | ny | | | Section | n A. Video Detection Systems and Parts: | s, inc. | | Stock to | o 30 Dave | |
| | | | | | | | n A- Video Detection Systems and Parts: | | | | o 30 Days | |
| | n B- Radar Detection Systems and Parts: | | | | | | n B- Radar Detection Systems and Parts: | | | | o Bid | |
| Sectio | n C- Combination Video/Radar Detection Sys | stems and F | Parts: | | | Sectio | n C- Combination Video/Radar Detection Sys | stems and F | Parts: | No | o Bid | |
| Sectio | n D- Single-Point Detection systems and Par | ts: | | 30-4 | 5 Days | Sectio | n D- Single-Point Detection systems and Par | ts: | | No Bid | | |
| Pricing | :Estimated Quantities for Evaluation Purposes On | ly- The City d | oes not g | uarantee any spe | ecific quantity or n | umber of | purchases, if any, that will be made during the agr | eement. | _ | | | |
| ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cost | ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cost | |
| Α | Video Detection Systems and Parts | | 1 | 1 | 1 | Α | Video Detection Systems and Parts | | | | | |
| A.1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: | 10 | EA | | | | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: ITSP-PMPOE-A1-4 (Thunder 4-way System w/4 IP Cameras) | 10 | EA | \$17,995.00 | \$179,950.00 | |
| A.2 | Video Detection Camera for system in line-item A.1, specify system name: | 10 | EA | | | A.2 | Video Detection Camera for system in line-item A.1, specify system name: ITSP-PMPOE (Thunder IP Cameras) | 10 | EA | \$995.00 | \$9,950.00 | |
| I A.5 | Video Detection Card for system in lineitem A.1, specify system name: | 10 | EA | | | A.3 | Video Detection Card for system in lineitem A.1, specify system name: ITSP-V600-0 (Thunder Processor) | 10 | EA | \$12,995.00 | \$129,950.00 | |
| 1 44 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: | 10 | EA | | | | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: ITSP-POE-110-A1-4 (Thunder 4-way system w/2 wid-Angle IP Cameras) | 10 | EA | \$17,495.00 | \$174,950.00 | |
| A.5 | Video Detection Camera for system in line-item A.4, specify system name: | 10 | EA | | | | Video Detection Camera for system in line-item A.4, specify system name:ITSP-POE-110 (Thunder wide-angle IP Camera) | 10 | EA | \$1,695.00 | \$16,950.00 | |
| A.6 | Video Detection Card for system in lineitem A.4, specify system name: | 10 | EA | | | A.6 | Video Detection Card for system in lineitem A.4, specify system name: ITSP-V600-0 (Thunder Processor) | 10 | EA | \$12,995.00 | \$129,950.00 | |
| A.7 | Video Detection Cable, specify type: | 100 | LF | | | A.7 | Video Detection Cable, specify type: ITSP-Cable POE (Cat-5E Cable) | 100 | LF | \$1.20 | \$120.00 | |
| A.8 | Video Detection Cable, specify type: | 100 | LF | | | 1 4 5 | Video Detection Cable, specify type: ITSP-Cable POE 6(cat-6 Cable) (1000' real of cable is \$1200) | 100 | LF | \$1.20 | \$120.00 | |
| A.9 | Other Video Detection Parts, specify type and system name: | 1 | EA | | | A.9 | Other Video Detection Parts, specify type and system name: N/A *All additional parts included in published price list | 1 | EA | N/A | N/A | |
| A.10 | Other Video Detection Parts, specify type and system name: | 1 | EA | | | A.10 | Other Video Detection Parts, specify type and system name: N/A | 1 | EA | N/A | N/A | |
| | | | | | | 1 | | | | | | |

| В | RADAR DETECTION SYSTEMS | | | | В | RADAR DETECTION SYSTEMS | | | | |
|------|---|------------|------|--|------|---|------------|-------|--------|--------|
| B.1 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar only, specify system name: | 5 | EA | | B.1 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar only, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| B.2 | Radar Detector for system in line-item B.1, stop-bar only, specify system name: | 5 | EA | | B.2 | Radar Detector for system in line-item B.1, stop-bar only, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| В.3 | Radar Detection Card for system in lineitem B.1, stop-bar only, specify system name | 5 | EA | | В.3 | Radar Detection Card for system in lineitem B.1, stop-bar only, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 5 | EA | | B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 5 | EA | | B.5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 5 | EA | | B.6 | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 5 | EA | No Bid | No Bid |
| B.7 | Radar Detection Cable, specify type: | 100 | LF | | B.7 | Radar Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |
| B.8 | Radar Detection Cable, specify type: | 100 | LF | | B.8 | Radar Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |
| B.9 | Other Radar Detection Part, specify type and system name: | 1 | EA | | B.9 | Other Radar Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| B.10 | Other Radar Detection Part, specify type and system name: | 1 | EA | | B.10 | Other Radar Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| С | Combination Video/Radar Detection Sys | tems and P | arts | | С | Combination Video/Radar Detection Sys | tems and P | Parts | | |
| | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: | 1 | EA | | C.1 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: | 1 | EA | | C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: | 1 | EA | | C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| C.7 | Radar/Video Combination Detection Cable, specify type: | 100 | LF | | C.7 | Radar/Video Combination Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |

| | OTAL COST NOT TO EXCEED: (All costs must be notuded or your bid will be disqualified) | | | | 594.00 | | AL COST NOT TO EXCEED: (All cost ded or your bid will be disqualified) | | 9 | \$641, | 940.00 |
|------|---|-----|----|-------------|-------------|------|--|-----|----|--------|--------|
| D.7 | Other Single-Point Detection Part, specify type and system name: Camera Riser & Bracket | 1 | EA | \$275.00 | \$275.00 | D.7 | Other Single-Point Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| D.6 | Other Single-Point Detection Part, specify type and system name: Miovision Core Processor | 1 | EA | \$10,274.00 | \$10,274.00 | D.6 | Other Single-Point Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| D.5 | Single-Point Detection Cable, specify type: | 100 | LF | | | D.5 | Single-Point Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |
| D.4 | Single-Point Detection Cable, specify type: Cat5e | 100 | LF | \$0.33 | \$33.00 | D.4 | Single-Point Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |
| D.3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: | 1 | EA | | | D.3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: Miovision Smartview 360 | 1 | EA | \$1,724.00 | \$1,724.00 | D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| D.1 | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: Miovision | 1 | EA | | \$16,288.00 | | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: No Bid | 1 | EA | No Bid | No Bid |
| D | Single-Point Detection Systems and Part | S | | | | D | Single-Point Detection Systems and Part | s | | | |
| C.10 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | | | C.10 | Other Radar/Video Combination Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| C.9 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | | | C.9 | Other Radar/Video Combination Detection Part, specify type and system name: No Bid | 1 | EA | No Bid | No Bid |
| C.8 | Radar/Video Combination Detection Cable, specify type: | 100 | LF | | | C.8 | Radar/Video Combination Detection Cable, specify type: No Bid | 100 | LF | No Bid | No Bid |
| | | | | | , | | - | | | 1 | |

 Discount on other Traffic Signal Detection Materials
 Please provide a percentage discount for products not specifically included on list 1 Discount on other Traffic Signal Detection Materials
Please provide a percentage discount for products not specifically included on list

| Item | Description | Name of/Link to Mfg.'s Published price List (Use Dealer Cost) | % Discount | Item | Description | Name of/Link to Mfg.'s Published price List (Use Dealer Cost) | % Discount |
|------|--|--|------------|------|---|--|------------|
| 1 | AG-3055-96-PNC | Pelco | 10% | 1 | Additional Traffic signal Detection Materials | ITS Plus Published Price List | 5% |
| 2 | Camera Riser Camera Riser https://www.ar nconduit.com/ aluminum-cond inch-rigid-alum | | 10% | 2 | | | |
| 3 | | | | 3 | | | |
| 4 | | | | 4 | | | |
| 5 | | | | 5 | | | |
| 6 | | | | 6 | | | |
| | Annu | al Price Adjustment: | 10% | | Annua | l Price Adjustment: | 0% |
| | | Notes: | N/A | | | Notes: | N/A |

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

| Wavetronix, LLC | | Paradigm Traffic Systems, Inc. | | | | | |
|---|---------|---|------------|--|--|--|--|
| Section A- Video Detection Systems and Parts: | | Section A- Video Detection Systems and Parts: | 45-60 Days | | | | |
| Section B- Radar Detection Systems and Parts: | 56 Days | Section B- Radar Detection Systems and Parts: | 45-60 Days | | | | |
| Section C- Combination Video/Radar Detection Systems and Parts: | | Section C- Combination Video/Radar Detection Systems and Parts: | 45-60 Days | | | | |
| Section D- Single-Point Detection systems and Parts: | 56 Days | Section D- Single-Point Detection systems and Parts: | N/A | | | | |

Pricing:Estimated Quantities for Evaluation Purposes Only- The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement.

| ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cost | ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cos |
|------------------|--|-----------------------|------|-----------|------------------|------|---|-----------------------|------|-------------|--------------|
| Α | Video Detection Systems and Parts | <u> </u> | ļ | | | Α | Video Detection Systems and Parts | <u> </u> | ļ | | |
| A.1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: | 10 | EA | | | A.1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 10 | EA | \$23,400.00 | \$234,000.00 |
| A.2 | Video Detection Camera for system in line-item A.1, specify system name: | 10 | EA | | | A.2 | Video Detection Camera for system in line-item A.1, specify system name: No Traffic (5 Year Warranty) | 10 | EA | \$4,215.00 | \$42,150.00 |
| Δ \prec | Video Detection Card for system in lineitem A.1, specify system name: | 10 | EA | | | A.3 | Video Detection Card for system in lineitem A.1, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 10 | EA | \$6,540.00 | \$65,400.00 |
| Δ 4 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: | 10 | EA | | | A.4 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: No Traffic | 10 | EA | \$23,400.00 | \$234,000.00 |
| Δ5 | Video Detection Camera for system in line-item A.4, specify system name: | 10 | EA | | | A.5 | Video Detection Camera for system in line-item A.4, specify system name: No Traffic | 10 | EA | \$4,215.00 | \$42,150.00 |
| Δh | Video Detection Card for system in lineitem A.4, specify system name: | 10 | EA | | | A.6 | Video Detection Card for system in lineitem A.4, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 10 | EA | \$6,540.00 | \$65,400.00 |
| A .7 | Video Detection Cable, specify type: | 100 | LF | | | A.7 | Video Detection Cable, specify type: | 100 | LF | \$0.90 | \$90.00 |
| A.8 | Video Detection Cable, specify type: | 100 | LF | | | A.8 | Video Detection Cable, specify type: | 100 | LF | \$0.90 | \$90.00 |
| A.9 | Other Video Detection Parts, specify type and system name: | 1 | EA | | | | Other Video Detection Parts, specify type and system name: No Traffic (5 Year Cellular Plan & Warranty) | 1 | EA | N/A | N/A |
| A.10 | Other Video Detection Parts, specify type and system name: | 1 | EA | | | A.10 | Other Video Detection Parts, specify type and system name: N/A | 1 | EA | N/A | N/A |
| | | | | | | | | | | | |

| В | RADAR DETECTION SYSTEMS | | | | | В | RADAR DETECTION SYSTEMS | | | | |
|------|---|------------|-------|-------------|--------------|------|--|------------|-------|-------------|--------------|
| B.1 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar only, specify system name: Wavetronx Smart Sensor Matrix System | 5 | EA | \$30,620.00 | \$153,100.00 | B.1 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar only, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$23,400.00 | \$117,000.00 |
| B.2 | Radar Detector for system in line-item B.1, stop-bar only, specify system name: Wavetronx Smart Sensor Matrix System | 5 | EA | \$5,880.00 | \$29,400.00 | B.2 | Radar Detector for system in line-item B.1, stop-bar only, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$4,215.00 | \$21,075.00 |
| B.3 | Radar Detection Card for system in lineitem B.1, stop-bar only, specify system name: Wavetonix Arc 6 | 5 | EA | \$4,970.00 | \$24,850.00 | B.3 | Radar Detection Card for system in lineitem B.1, stop-bar only, specify system name No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$6,540.00 | \$32,700.00 |
| B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: Wavetronix SmartSensor Matrix & Advance System | 5 | EA | \$61,136.00 | \$305,680.00 | | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$23,400.00 | \$117,000.00 |
| B.5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: Wavetronix SmartSensor Matrix & Advance Sensors | 5 | EA | \$12,204.00 | \$61,020.00 | R 5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$4,215.00 | \$21,075.00 |
| B.6 | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: Wavetonix Arc 6 | 5 | EA | \$9,940.00 | \$49,700.00 | | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 5 | EA | \$6,540.00 | \$32,700.00 |
| B.7 | Radar Detection Cable, specify type: SmartSensor Cable | 100 | LF | \$4.00 | \$400.00 | B.7 | Radar Detection Cable, specify type: | 100 | LF | \$0.90 | \$90.00 |
| В.8 | Radar Detection Cable, specify type: | 100 | LF | N/A | N/A | B.8 | Radar Detection Cable, specify type: | 100 | LF | \$0.90 | \$90.00 |
| B.9 | Other Radar Detection Part, specify type and system name: Wavetronix Advance Sensor | 1 | EA | \$6,000.00 | \$6,000.00 | B.9 | Other Radar Detection Part, specify type and system name: N/A | 1 | EA | N/A | N/A |
| B.10 | Other Radar Detection Part, specify type and system name: Wavetronix SmartSensor Surge | 1 | EA | \$265.00 | \$265.00 | B.10 | Other Radar Detection Part, specify type and system name: N/A | 1 | EA | N/A | N/A |
| С | Combination Video/Radar Detection Sys | tems and F | Parts | <u> </u> | | С | Combination Video/Radar Detection Sys | tems and P | Parts | | |
| C.1 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: | 1 | EA | | | | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 1 | EA | \$23,400.00 | \$23,400.00 |
| C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: | 1 | EA | | | C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: No Traffic | 1 | EA | \$2,250.00 | \$2,250.00 |
| C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: | 1 | EA | | | | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: No Traffic | 1 | EA | \$6,540.00 | \$6,540.00 |
| C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | | C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Traffic (5 Year Cellular Plan & Warranty) | 1 | EA | \$23,400.00 | \$23,400.00 |
| C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | | C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: No Traffic | 1 | EA | \$2,250.00 | \$2,250.00 |
| C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | | | C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: | 1 | EA | \$23,400.00 | \$23,400.00 |
| C.7 | Radar/Video Combination Detection Cable, specify type: | 100 | LF | | | C.7 | Radar/Video Combination Detection Cable, specify type: No Traffic | 100 | LF | \$0.90 | \$90.00 |

| | 1 | | r | | | | · | | · | | |
|------|--|-----|----------|-------------|-------------|------|---|-----|----------|------------|------------|
| C.8 | Radar/Video Combination Detection Cable, specify type: | 100 | LF | | | C.8 | Radar/Video Combination Detection Cable, specify type: No Traffic | 100 | LF | \$0.90 | \$90.00 |
| C.9 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | | | C.9 | Other Radar/Video Combination Detection Part, specify type and system name: No Traffic | 1 | EA | \$6,540.00 | \$6,540.00 |
| C.10 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | | | C.10 | Other Radar/Video Combination Detection Part, specify type and system name: No Traffic | 1 | EA | \$6,540.00 | \$6,540.00 |
| D | Single-Point Detection Systems and Part | S | <u>I</u> | | | D | Single-Point Detection Systems and Part | S | <u>I</u> | I | |
| | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: Wavetronix XP21 System | 1 | EA | \$14,790.00 | \$14,790.00 | D.1 | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: N/A | 1 | EA | N/A | N/A |
| | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: Wavetronix XP21 Sensor | 1 | EA | \$10,670.00 | \$10,670.00 | D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: N/A | 1 | EA | N/A | N/A |
| | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: Wavetronix Arc 2 | 1 | EA | \$4,120.00 | \$4,120.00 | D.3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: N/A | 1 | EA | N/A | N/A |
| D.4 | Single-Point Detection Cable, specify type: Expense Cable | 100 | LF | \$2.90 | \$290.00 | D.4 | Single-Point Detection Cable, specify type: N/A | 100 | LF | N/A | N/A |
| D.5 | Single-Point Detection Cable, specify type: | 100 | LF | NA | NA | D.5 | Single-Point Detection Cable, specify type: N/A | 100 | LF | N/A | N/A |
| D.6 | Other Single-Point Detection Part, specify type and system name: Wavetronix Arc Surge | 1 | EA | \$265.00 | \$265.00 | D.6 | Other Single-Point Detection Part, specify type and system name: N/A | 1 | EA | N/A | N/A |
| D.7 | Other Single-Point Detection Part, specify type and system name: | 1 | EA | NA | NA | D.7 | Other Single-Point Detection Part, specify type and system name: N/A | 1 | EA | N/A | N/A |
| | AL COST NOT TO EXCEED: (All cost ded or your bid will be disqualified) | | 9 | \$660, | 550.00 | | AL COST NOT TO EXCEED: (All cost ded or your bid will be disqualified) | | • | \$1,119 | ,510.00 |

1 Discount on other Traffic Signal Detection Materials Please provide a percentage discount for products not specifically included on list

1 Discount on other Traffic Signal Detection Materials
Please provide a percentage discount for products not specifically included on list

| 1 10030 | e provide a percentage discount for products not specifically included on list | | | | | | | | | | |
|---------|--|--|----------------------------------|--------|-----------------------------|--|--------------|--|--|--|--|
| ltem | Description | Name of/Link to Mfg.'s Published price List (Use Dealer Cost) | % Discount | ltem | Description | Name of/Link to Mfg.'s Published price List (Use Dealer Cost) | d % Discount | | | | |
| 1 | | | | 1 | | | | | | | |
| 2 | | | | 2 | | | | | | | |
| 3 | | | | 3 | | | | | | | |
| 4 | | | | 4 | | | | | | | |
| 5 | | | | 5 | | | | | | | |
| 6 | | | | 6 | | | | | | | |
| The C | ity does not guarantee any specific quant | ity or number of p | urchases, if any, that will be m | ade du | uring the agreement period. | | _ | | | | |
| | Annual Price | Adjustment: | 3% | | Annual Price | Adjustment: | N/A | | | | |
| | | Notes: | N/A | | | Notes: | N/A | | | | |

| | Gades Sales (| Company, | Inc. | | | | Econolite Contro | ol Produc | ts, Inc | ·. | |
|---------|---|-----------------------|------------|-------------------|-------------------|---|---|-------------|---------|-------------|---------------|
| Sectio | n A- Video Detection Systems and Parts: | | | 2-6 We | eks ARO | Sectio | n A- Video Detection Systems and Parts: | | | 4-12 W | eeks ARO |
| Sectio | n B- Radar Detection Systems and Parts: | | | 2-6 Weeks ARO | | | Section B- Radar Detection Systems and Parts: | | | | eeks ARO |
| Sectio | n C- Combination Video/Radar Detection Sys | stems and F | arts: | 2-6 We | eks ARO | Sectio | n C- Combination Video/Radar Detection Sy | stems and F | Parts: | 4-12 W | eeks ARO |
| Sectio | n D- Single-Point Detection systems and Par | ts: | | 2-6 We | eks ARO | Sectio | n D- Single-Point Detection systems and Pa | ts: | | ı | N/A |
| Pricing | g: Pricing:Estimated Quantities for Evaluation Purp | | ne City do | oes not guarantee | any specific quan | tity or number of purchases, if any, that will be made during the agre | | | ent. | | |
| ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cost | ITEM Description Est. Output Output | | | | Unit Cost | Extended Cost |
| Α | Video Detection | on Systems | and Pa | rts | 1 | Α | Video Detection | n Systems | and Pa | arts | |
| A.1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: Currux SmartCity ITS W/(4) Axis Bullet Cameras Includes Pedestrian Detection as a Standard Feature | 10 | EA | \$18,723.00 | \$187,230.00 | A.1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: Autoscope Vision System | 10 | EA | \$19,830.00 | \$198,300.00 |
| A.2 | Video Detection Camera for system in line-item A.1, specify system name: Axis Bullet Camera (No Mounting Bracket) | 10 | EA | \$706.00 | \$7,060.00 | A.2 | Video Detection Camera for system in line-item A.1, specify system name: Autoscope Vision System | 10 | EA | \$3,895.00 | \$38,950.00 |
| A.3 | Video Detection Card for system in lineitem A.1, specify system name: Currux SmartCity ITS Unit (Not card rack mounted Stand-alone unit will process up to 6 cameras) | 10 | EA | \$14,738.00 | \$147,380.00 | A.3 | Video Detection Card for system in lineitem A.1, specify system name: Autoscope Vision Comm Manager | 10 | EA | \$2,508.00 | \$25,080.00 |
| A.4 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: | 10 | EA | No Bid | No Bid | A.4 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: Autodcope OptiVu System | 10 | EA | \$17,504.00 | \$175,040.00 |
| A.5 | Video Detection Camera for system in line-item A.4, specify system name: | 10 | EA | No Bid | No Bid | A.5 | Video Detection Camera for system in line-item A.4, specify system name: Autodcope OptiVu System | 10 | EA | \$2,500.00 | \$25,000.00 |
| A.6 | Video Detection Card for system in lineitem A.4, specify system name: | 10 | EA | No Bid | No Bid | A.6 | Video Detection Card for system in lineitem A.4, specify system name: Autodcope OptiVu Processor | 10 | EA | \$8,656.00 | \$86,560.00 |

\$38.00

No Bid

\$337.00

\$136.00

\$104,330.00

\$19,275.00

\$15,910.00

\$0.38

No Bid

\$337.00

\$136.00

\$20,866.00

\$3,855.00

\$3,182.00

100

1

1

5

5

5

A.8 Video Detection Cable, specify type:

Other Video Detection Parts, specify type and

Other Video Detection Parts, specify type and

Radar Detection System, Standard 8- phase, 4-leg

intersection, stop-bar only, specify system name:

Radar Detector for system in line-item B.1, stop-bar

Radar Detection Card for system in lineitem B.1,

B.3 stop-bar only, specify system name: **RadarVision**

Compact Controller with Power Supply

RadarVision Compact 4 Kit - Standard with

A.10 system name: Power Supply-Meanwell SDR-240-

RADAR DETECTION SYSTEMS

Advanced and Pedestrian Detection

B.2 only, specify system name: **600-020 pr 600-023**

RadarVision Detector with Bracket

48

system name: Switch-Antaira LNP-0800-T

LF

EA

EΑ

EΑ

EΑ

EA

A.7 Video Detection Cable, specify type: Autodcope

Video Detection Cable, specify type: **Autodcope**

Other Video Detection Parts, specify type and

Other Video Detection Parts, specify type and

Radar Detection System, Standard 8- phase, 4-leg

intersection, stop-bar only, specify system name:

Radar Detector for system in line-item B.1, stop-bar

Radar Detection Card for system in lineitem B.1,

stop-bar only, specify system name: **EVO HUB**

only, specify system name: EVO Radar

RADAR DETECTION SYSTEMS

OptiVu Wire

OptiVu Wire

system name:

system name:

EVO System

A.8

A.10

B.2

100

100

1

1

5

5

5

LF

LF

EA

EΑ

EΑ

EΑ

EΑ

\$0.79

\$0.70

N/B

N/B

\$11,710.00

\$6,620.00

\$6,320.00

\$79.00

\$70.00

N/B

N/B

\$58,550.00

\$33,100.00

\$31,600.00

| | | | | <u> </u> | | | | | | 1 | |
|--------|---|------------|------|-------------|--------------|-------|---|------------|-------|-------------|-------------|
| B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: RadarVision Compact 4 Secsor Kit Advanced Detection is Standard-Includes PedestrianDetection | 5 | EA | \$20,866.00 | \$104,330.00 | B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EPIQ System | 5 | EA | \$15,100.00 | \$75,500.00 |
| B.5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: 600-020 OR 600-023 RadarVision Detector | 5 | EA | \$3,855.00 | \$19,275.00 | B.5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EPIQ Radar | 5 | EA | \$7,820.00 | \$39,100.00 |
| B.6 | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: RadarVision Compact Controller w/Power Supply | 5 | EA | \$3,182.00 | \$15,910.00 | B.6 | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EPIQ HUB | 5 | EA | \$6,320.00 | \$31,600.00 |
| I B./ | Radar Detection Cable, specify type: 18AWG-3C Shielded | 100 | LF | \$0.90 | \$90.00 | B.7 | Radar Detection Cable, specify type: EVO Wire | 100 | LF | \$1.30 | \$130.00 |
| B.8 | Radar Detection Cable, specify type: | 100 | LF | No Bid | No Bid | B.8 | Radar Detection Cable, specify type: EPIQ Wire | 100 | LF | \$1.30 | \$130.00 |
| I B.9 | Other Radar Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid | B.9 | Other Radar Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| B.10 | Other Radar Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid | B.10 | Other Radar Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| С | Combination Video/Radar Detection Sys | tems and F | arts | | | С | Combination Video/Radar Detection Sys | tems and F | Parts | | |
| C.1 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: RadarVision comes Standard w/Advanced & Pedestrain Detection | 1 | EA | \$26,027.00 | \$26,027.00 | C.1 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: EPIQ System | 1 | EA | \$15,100.00 | \$15,100.00 |
| C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: ProRadarCam Detecor w/Bracket | 1 | EA | \$5,153.00 | \$5,153.00 | C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: EPIQ Radar | 1 | EA | \$7,820.00 | \$7,820.00 |
| C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: RadarVision Compact Controller w/Power Supply | 1 | EA | \$3,182.00 | \$3,182.00 | C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: EPIQ HUB | 1 | EA | \$6,320.00 | \$6,320.00 |
| C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: RadarVision comes Standard w/Advanced and Pedestrian Detection | 1 | EA | \$26,027.00 | \$26,027.00 | C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EPIQ System | 1 | EA | \$15,100.00 | \$15,100.00 |
| C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ProRadarCam Detector w/Bracket | 1 | EA | \$5,153.00 | \$5,153.00 | C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EPIQ Radar | 1 | EA | \$7,820.00 | \$7,820.00 |
| C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: Radarvision Compact Controller w/Power Supply | 1 | EA | \$3,182.00 | \$3,182.00 | C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: EQIP HUB | 1 | EA | \$6,320.00 | \$6,320.00 |
| . (. / | Radar/Video Combination Detection Cable, specify type: 18AWGG-3C Shielded | 100 | LF | \$0.90 | \$90.00 | 1 G / | Radar/Video Combination Detection Cable, specify type: EVO Wire | 100 | LF | \$1.30 | \$130.00 |

| 1 C.8 | Radar/Video Combination Detection Cable, specify type: | 100 | LF | No Bid | No Bid | C.8 | Radar/Video Combination Detection Cable, specify type: EPIQ Wire | 100 | LF | \$1.30 | \$130.00 |
|---------|---|--------|--------|----------------|--------------|---|--|--------------------------------------|----------------|----------|----------|
| C.9 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid | C.9 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| 1 (: 10 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid | C.10 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| D | Single-Point Detection Systems and Part | S | | | | D | Single-Point Detection Systems and Part | S | | | |
| D.1 | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name:Currux SmartCity ITS w(1) Axis Fisheye Camera Includes Pedestrian Detection | 1 | EA | \$17,192.00 | \$17,192.00 | | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: | 1 | EA | N/B | N/B |
| D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: Axis M4318-PLVE Fisheye Camera w/Pendant Mount Bracket | 1 | EA | \$1,165.00 | \$1,165.00 | D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: | 1 | EA | N/B | N/B |
| D.3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: Currux SmartCity ITS Unit (Not card rack mounted Stand-Alone unit will process up to 6 viedo steams) | 1 | EA | \$14,738.00 | \$14,738.00 | 1 1) 3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: | 1 | EA | N/B | N/B |
| 11)4 | Single-Point Detection Cable, specify type: CAT 5e or Cat 6 | 100 | LF | \$0.38 | \$38.00 | D.4 | Single-Point Detection Cable, specify type: | 100 | LF | N/B | N/B |
| D.5 | Single-Point Detection Cable, specify type: CAT 5e or | 100 | LF | No Bid | No Bid | D.5 | Single-Point Detection Cable, specify type: | 100 | LF | N/B | N/B |
| 1 1) h | Other Single-Point Detection Part, specify type and system name: Switch-Antaira LNP-0800-T | 1 | EA | \$337.00 | \$337.00 | D.6 | Other Single-Point Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| | Other Single-Point Detection Part, specify type and system name: Power Supply - Meanwell SDR-240-48 | 1 | EA | \$136.00 | \$136.00 | D.7 | Other Single-Point Detection Part, specify type and system name: | 1 | EA | N/B | N/B |
| | AL COST NOT TO EXCEED: (All cost ded or your bid will be disqualified) | | 9 | \$723 , | 721.00 | | AL COST NOT TO EXCEED: (All cost ded or your bid will be disqualified) | | e | \$877, | 529.00 |
| 1 | Discount on other Traffic Signal Detection Materia | ıls | | | | 1 | Discount on other Traffic Signal Detection Materia | ıls | | | |
| Please | provide a percentage discount for products not sp | | ist | | Please | provide a percentage discount for products not sp | ecifically incl Name of/L | | list | | |
| Item | Dealer Cost) | | | | scount | Item | Description | Mfg.'s Pub price List Dealer C | lished (Use | % Di | scount |
| | Miscellaneous Parts | | | 2% | 1 | | | | | | |
| | Miscellaneous Parts | sion | 2 | 2% | 2 | | | | | | |
| 3 | | | | | 3 | | | | | | |
| 5 | | | | | 5 | | | | | | |
| 6 | | | | | 6 | | | | | | |
| | Annual Price . | 6% | | | Annual Price | Adjustment: | | (|)% | | |
| | | | N/A | | | | Notes: | | ١ | I/A | |
| The (| City door not guarantos any anacific | Notes: | or nur | | hacoe if any | that | will be made during the agreement | | 1 | <u> </u> | |

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.

| Mobotrex, LLC | | | | |
|---|---------|--|--|--|
| Section A- Video Detection Systems and Parts: | 30 Days | | | |
| Section B- Radar Detection Systems and Parts: | 30 Days | | | |
| Section C- Combination Video/Radar Detection Systems and Parts: | 30 Days | | | |
| Section D- Single-Point Detection systems and Parts: | 30 Days | | | |

Pricing: Estimated Quantities for Evaluation Purposes Only- The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement.

| | g: Estimated Quantities for Evaluation Purposes Or r of purchases, if any, that will be made during the a | agreement. | ioes not g | juarantee any spe | ecific quantity or |
|-------------|---|-----------------------|------------|-------------------|--------------------|
| ITEM | Description | Est. Annual QTY | Unit | Unit Cost | Extended Cost |
| Α | Video Detection Systems and Parts | | | | · |
| A .1 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: ITERIS VANTAGE NEXT SYS | 10 | EA | \$14,895.00 | \$148,950.00 |
| A.2 | Video Detection Camera for system in line-item A.1, specify system name: ITERIS NEXT CAM | 10 | EA | \$1,316.00 | \$13,160.00 |
| A .3 | Video Detection Card for system in lineitem A.1, specify system name: ITERIS NEXT DVP | 10 | EA | \$3,125.00 | \$31,250.00 |
| A.4 | Complete Video Detection System for standard 8-phase, 4-leg intersection, specify system name: ITERIS APEX SYS | 10 | EA | \$24,690.00 | \$246,900.00 |
| A.5 | Video Detection Camera for system in line-item A.4, specify system name: ITERIS APEX-CAM-48-PAK | 10 | EA | \$2,970.00 | \$29,700.00 |
| A .6 | Video Detection Card for system in lineitem A.4, specify system name: ITERIS APEX-CAM-RM-PAK | 10 | EA | \$12,167.00 | \$121,670.00 |
| A .7 | Video Detection Cable, specify type: ITERIS CAT5E-FTP-CABLE | 100 | LF | \$0.38 | \$38.00 |
| A.8 | Video Detection Cable, specify type: ITERIS APEX Cable | 100 | LF | \$0.97 | \$97.00 |
| A.9 | Other Video Detection Parts, specify type and system name: | 1 | EA | No Bid | No Bid |
| A.10 | Other Video Detection Parts, specify type and system name: | 1 | EA | No Bid | No Bid |
| В | RADAR DETECTION SYSTEMS | | | | |
| B.1 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar only, specify system name: ITERIS RADIUS SYS | 5 | EA | \$19,530.00 | \$97,650.00 |
| B.2 | Radar Detector for system in line-item B.1, stop-bar only, specify system name: ITERIS RAD-SENSOR-PAK | 5 | EA | \$2,387.00 | \$11,935.00 |
| B.3 | Radar Detection Card for system in lineitem B.1, stop-bar only, specify system name: ITERIS RAD-PROC | 5 | EA | \$3,125.00 | \$15,625.00 |
| B.4 | Radar Detection System, Standard 8- phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS RADIUS PLUS | 5 | EA | \$24,100.00 | \$120,500.00 |
| B.5 | Radar Detector for system in line-item B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS RADPL-SENSOR-PAK | 5 | EA | \$3,530.00 | \$17,650.00 |

| B.6 | Radar Detection Card for system in lineitem B.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS RAD-PROC | 5 | EA | \$3,125.00 | \$15,625.00 |
|------|---|------------|----------|-------------|-------------|
| B.7 | Radar Detection Cable, specify type: ITERIS CAT5E-FTP-CABLE | 100 | LF | \$0.38 | \$38.00 |
| B.8 | Radar Detection Cable, specify type: ITERIS CAT5E-FTP-CABLE | 100 | LF | \$0.38 | \$38.00 |
| B.9 | Other Radar Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid |
| B.10 | Other Radar Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid |
| С | Combination Video/Radar Detection Sys | tems and F | Parts | | |
| C.1 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: ITERIS VECTOR NEXT SYS | 1 | EA | \$25,420.00 | \$25,420.00 |
| C.2 | Radar/Video Combination Detector for system in line-item C.1, stop-bar only, specify system name: ITERIS VECTOR-NEXT | 1 | EA | \$4,000.00 | \$4,000.00 |
| C.3 | Radar/Video Combination Detection Card for system in line-item C.1, stop-bar only, specify system name: ITERIS NEXT-DVP | 1 | EA | \$3,125.00 | \$3,125.00 |
| C.4 | Radar/Video Combination Detection System, standard 8-phase, 4-leg intersection, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS APEX-SYS | 1 | EA | \$32,388.00 | \$32,388.00 |
| C.5 | Radar/Video Combination Detector for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS APEX-VEC-48 | 1 | EA | \$4,950.00 | \$4,950.00 |
| C.6 | Radar/Video Combination Detection Card for system in line-item C.4, stop-bar and long-range detection up to 600 feet in advance of the intersection, specify system name: ITERIS APEX-RM-PAK | 1 | EA | \$12,167.00 | \$12,167.00 |
| C.7 | Radar/Video Combination Detection Cable, specify type: ITERIS CATE5E-FTP-CABLE | 100 | LF | \$0.38 | \$38.00 |
| C.8 | Radar/Video Combination Detection Cable, specify type: ITERIS APEX-Cable | 100 | LF | \$0.97 | \$97.00 |
| C.9 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid |
| C.10 | Other Radar/Video Combination Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid |
| D | Single-Point Detection Systems and Part | S | <u> </u> | | |
| D.1 | Single-Point Detection System, standard 8-phase, 4-leg intersection, stop-bar only, specify system name: ITERIS NODE-SYSTEM | 1 | EA | \$16,000.00 | \$16,000.00 |
| D.2 | Single-Point Detector for system in lineitem D.1, stop-bar only, specify system name: ITERIS NODE-CCU | 1 | EA | \$10,336.00 | \$10,336.00 |

| TOTAL COST NOT TO EXCEED: (All costs must be included or your bid will be disqualified) | | | | \$1,002 | ,162.00 |
|---|--|-----|----|-------------|-------------|
| D.7 | Other Single-Point Detection Part, specify type and system name: | 1 | EA | No Bid | No Bid |
| D.6 | Other Single-Point Detection Part, specify type and system name: DERQ SYS | 1 | EA | \$17,075.00 | \$17,075.00 |
| D.5 | Single-Point Detection Cable, specify type: CAT5 CABLE OUTDOOR | 100 | LF | \$0.38 | \$38.00 |
| D.4 | Single-Point Detection Cable, specify type: CAT5 CABLE OUTDOOR | 100 | LF | \$0.38 | \$38.00 |
| D.3 | Single-Point Detection Card for system in line-item D.1, stop-bar only, specify system name: ITERIS NODE-CAM | 1 | EA | \$5,664.00 | \$5,664.00 |

1 Discount on other Traffic Signal Detection Materials
Please provide a percentage discount for products not specifically included on list

| Item | Description | Name of/Link to Mfg.'s Published price List (Use Dealer Cost) | % Discount |
|------|-----------------|--|------------|
| 1 | Detection Items | ITERIS | 15% |
| 2 | Detection Items | DERQ | 15% |
| 3 | | | |
| 4 | | | |
| 5 | | | |
| 6 | | | |
| | Annua | 5% | |
| | | N/A | |

The City does not guarantee any specific quantity or number of purchases, if any, that will be made during the agreement period.